Quadratics Level 8 Grade B
Exercise 1

Expand each of the following brackets

[image: image2.emf]
Solve each of the above by completing a grid like the one below:

	
	x
	1

	x
	x2
	1x

	2
	2x
	2


a) 

  So (x+1)(x+2) = x2 + 3x + 2
Exercise 2

[image: image1.emf]Factorise each of the following quadratics
Solve each of the above by drawing a grid like the one below and then trying to find the two missing values a and b

	
	x
	a

	x
	x2
	

	b
	
	15


a) 

	
	x
	5

	x
	x2
	5x

	3
	3x
	2


             So x2 + 8x + 15 = (x+5)(x+3)
